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1. In which of the following places in India 

evergreen forest is not found? 

a) Andaman Islands  b) Assam 

c) Western slopes of western Ghats 

d) Deccan Plateau 

க஼ழம கக஺டுக்கப்஧ட்டுள்஭ இந்த஻ன ஧குத஻களுள் ஧சுமந 

ந஺஫஺ க஺டுகள் இல்஬஺த ஧குத஻ 

a) அந்தந஺ன் தவீுகள்  b) அஸ்ஸ஺ம் 

c) ழநற்கு கத஺டர்ச்ச஻ நம஬க஭ின் ழநற்குச் சரிவு 

d) தக்க஺ண ஧ீடபூந஻ 

 

2. The largest percentage of forest area in India is found 

in which of the following regions. 

a) Eastern ghats  b) Himalayan region 

c) Peninsular plateau  d) Western ghats 

க஼ழ்கண்டயற்றுள் இந்த஻ன஺யில் எந்த ஧ிபழதசம் 

அத஻க஭யில் (சதயதீத்த஻ல்) க஺டுக஭ின் ஧பப்஧஭மய 

கக஺ண்டது? 

a) க஻மக்கு கத஺டர்ச்ச஻ நம஬ b) இநனநம஬ ஧ிபழதசம் 

c) த஧ீகற்஧ ஧ீடபூந஻ d) ழநற்கு கத஺டர்ச்ச஻ நம஬ 

 

3. Sahara desert is the 

a) Hot desert Biome  b) Cold desert Biome 

c) Alphine   d) Desert Biome. 

சக஺ப஺ ஧஺ம஬ய஦ம் என்஧து 

a) கயப்஧ ஧஺ம஬ய஦ சூம஬மநவு 

b) கு஭ிர் ஧஺ம஬ய஦ சூம஬மநவு 

c) ஆல்ம஧ன்  d) ஧஺ம஬ய஦த் கத஺குத஻ 

 

 

 

4. Identify the place in Tamil Nadu where Mangrove 

forest is absent : 

a) Pitchavaram  b) Kodiakkarai 

c) Vedaranyam  d) Mamallapuram 

தந஻ழ்஥஺ட்டில் சதுப்பு஥஻஬க் க஺டுகள் அமநனப்க஧஫஺த 

இடத்மத அமடன஺஭ம் க஺ண்க: 

a) ஧ிச்ச஺யபம்  b) ழக஺டினக்கமப 

c) ழயத஺பண்னம்  d) ந஺நல்஬புபம் 

 

5. Theppakkadu is familiar for 

a) Deer camp  b) Elephant camp 

c) Tiger camp  d) Wild Dog camp 

கதப்஧க்க஺டு எதற்கு புகழ்க஧ற்஫து? 

a) ந஺ன்கள் ப௃க஺ம்  b) ன஺ம஦கள் ப௃க஺ம் 

c) பு஬஻கள் ப௃க஺ம்  d) க஺ட்டு ஥஺ய்க ப௃க஺ம் 

 

6. Consider following statement : 

1. Wayanad Wild Life Sanctuary is situated in Kerala. 

2. Siroe National Park is situated in Meghalays. 

3. Baghmara is situated in Meghalays. 

Which of the statement/s given above are correct? 

஧ின்யபேம் கபேத்துபேமய ஏற்றுக்கக஺ள் : 

1. யன஥஺டு ய஦யி஬ங்கு சபண஺஬னம் ழகப஭஺யில்  

    உள்஭து. 

2. ச஻ழப஺ ழதச஻ன பூங்க஺ ழநக஺஬ன஺யில் உள்஭து. 

3. ஧க஺நப஺ ழநக஺஬ன஺யில் உள்஭து. 

     ழநழ஬ கூ஫ப்஧ட்ட எந்த கபேத்து சரி? 

a) 1, 2, 3 b) 1,3  c) 1,2  d) 2,3 
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7. Which is the largest mangrove forest in India? 

a) Sundarban  b) Pitchavaram 

c) Muthupet  d) Gulf of Marinar 

இந்த஻ன஺யின் ந஻கப்க஧ரின அம஬ன஺த்த஻க் க஺டுகள் எது? 

a) சுந்தபய஦க் க஺டுகள் b) ஧ிச்ச஺யபம் க஺டுகள் 

c) ப௃த்துப்ழ஧ட்மட க஺டுகள் d) நன்஦஺ர் யம஭குட஺ 

 

8. Which is the second most important food Crop in 

India? 

a) Rice b) Wheat c) Maize4 d) Ragi 

இந்த஻ன஺யின் இபண்ட஺யது ப௃க்க஻ன உணவு ஧னிர் எது? 

a) அரிச஻ b) ழக஺துமந c) ழச஺஭ம்     d) ழகழ்யபகு 

 

9. The leading producer of Jute in Iridia is 

a) West Bengal  b) Bihar 

c) Tamil Nadu  d) Orissa 

சணல் உற்஧த்த஻னில் ப௃த஬஻டத்த஻ல் உள்஭ இந்த஻ன 

ந஺஥஻஬ம் 

a) ழநற்கு யங்க஺஭ம்  b) ஧ீக஺ர் 

c) தந஻ழ்஥஺டு   d) ஒரிச஺ 

 

10. The golden quadrilateral project connects which of the 

following cities through highway? 

a) Delhi – Mumbai – Kolkatta - Chennai 

b) Mumbai - Pune - Kolkotta - Chennai 

c) Delhi - Chandigarh - Jaipur - Mumbai 

d) Kanpur - Patna - Kolkotta - Guwahati 

 

 

 

இந்த஻ன஺யில் தங்க ஥஺ற்கப ச஺ம஬ த஻ட்டம் 

க஼ழ்க்க஺ணும் எந்த ஥கபங்கம஭கனல்஬஺ம் 

க஥டுஞ்ச஺ம஬க஭஺ல் இமணக்க஻஫து? 

a) கடல்஬஻ – ப௃ம்ம஧ – கக஺ல்கத்த஺ - கசன்ம஦ 

b) ப௃ம்ம஧ - பூழ஦ - கக஺ல்கக஺த்த஺ - கசன்ம஦ 

c) கடல்஬஻ - சண்டிகர் - கெய்ப்பூர் – ப௃ம்ம஧ 

d) க஺ன்பூர் - ஧஺ட்஦஺ - கக஺ல்கக஺த்த஺ – ககௌக஺த்த஻ 

 

11. Which is the largest port in the west coast of India? 

a) Kandla Port  b) Mumbai Port 

c) Kochi Port  d) Marmagao Port 

இந்த஻ன ழநற்கு கடற்கமபனின் ந஻கப்க஧ரின தும஫ப௃கம் 

எது? 

a) கண்ட்஬஺ தும஫ப௃கம் b) ப௃ம்ம஧ தும஫ப௃கம் 

c) கக஺ச்ச஻ தும஫ப௃கம் d) நர்நழக஺ய஺ 

 

12. The Headquartes of the central water transport 

corporation is located at 

a) Kolkata   b) New Delhi 

c) Noida   d) Guwahti 

நத்த஻ன ஥ீர்யம஻ ழ஧஺க்குயபத்து கமகத்த஻ன் 

தம஬மநனகம் உள்஭ இடம் 

a) கக஺ல்கத்த஺  b) புது டில்஬஻ 

c) க஥஺ய்ட஺   d) ககௌக஺த்த஻ 

 

 

13. Which airport has become the world's first airport to 

completely operate on solar power? 

a) Cochin   b) New York 

c) London   d) Tokyo 
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ப௃ழு சூரின ந஻ன் சக்த஻னின் ப௄஬ம் இனங்கும் ப௃தல் 

யிந஺஦ ஥஻ம஬னம் அமநந்துள்஭ ஥கபம் எது? 

a) கக஺ச்ச஻   b) ஥஻பென஺ர்க் 

c) ஬ண்டன்   d) ழட஺க்க஻ழன஺ 

 

14. Consider the following statements : The 760 km long 

Konkan railway passes through the following states : 

(i) Kerala (ii) Karnataka (iii) Goa   (iv) Maharastra 

க஼ழ்கண்ட ய஺க்க஻னத்மத கய஦ி : 760 க஻.நீ ஥ீ஭ப௃மடன 

கக஺ங்கன் பனில் க஼ழ்கண்ட எந்த ந஺஥஻஬ங்கம஭ 

கடக்க஻஫து? 

(i) ழகப஭஺ (ii) கர்஥஺டக஺ (iii) ழக஺ய஺(iv) 

நக஺ப஺ஷ்டிப஺ 

a) (i), (ii), (iii) நற்றும் (iv) b) (i) நற்றும் (ii) 

c) (i) நற்றும் (iii)                d) (i), (ii) நற்றும் (iii) 

சரின஺஦து 

 

15. Expansion of Inland waterways was initiated under the 

a) Jal-Kanya Project  b) Jal Merg Vikas Project 

c) Bharat Mata Project d) Uday Project 

உள்஥஺ட்டு ஥ீர்யம஻ தடங்கம஭ யிரிய஺க்க 

கத஺டங்கப்஧ட்ட த஻ட்டம் 

a) ெல் கன்ன஺ த஻ட்டம்   

b) ெல் ந஺ர்க் யிக஺ஸ் த஻ட்டம்   

c) ஧஺பத் ந஺த஺ த஻ட்டம்  d) உதய் த஻ட்டம் 

 

16. India's largest rail cum road bridge connects which of 

the following states? 

a) Andhra pradesh and Telengana 

b) Rajasthan and Gujarat 

c) Arunachal pradesh and Assam 

d) Punjab and Himachal pradesh 

 

 

இந்த஻ன஺யில் ந஻க ஥ீ஭ந஺஦ ச஺ம஬ நற்றும் பனில் 

஧஺஬ம் ஧ின்யபேம் எந்த இபே ந஺஥஻஬ங்கம஭ 

இமணக்க஻஫து? 

a) ஆந்த஻ப ஧ிபழதசம் நற்றும் கதலுங்க஺஦஺ 

b) ப஺ெஸ்த஺ன் நற்றும் குெப஺த் 

c) அபேண஺ச்ச஬ ஧ிபழதசம் நற்றும் அஸ்ஸ஺ம் 

d) ஧ஞ்ச஺ப் நற்றும் இந஺ச்ச஬ ஧ிபழதசம் 

 

17. The first Metro Rail Project was commissioned in India 

in the city of 

a) Chennai   b) Kolkata 

c) Delhi   d) Mumbai 

இந்த஻ன஺யில் ப௃தன் ப௃த஬஻ல் கநட்ழப஺ பனில் த஻ட்டம் 

அமநக்கப்஧ட்ட ஥கபம் 

a) கசன்ம஦   b) கக஺ல்கத்த஺ 

c) கடல்஬஻   d) ப௃ம்ம஧ 

 

18. What is the objective of Pradhan Mantri Grameen 

Sadak Yojana? 

a) Villages were linked to cities 

b) Districts linked to cities 

c) Every village is linked to a major town 

d) Villages are linked with each other 

஧ிபத஺ன் நந்த஻ரி க஻ப஺ந஻ன் சதக் ழன஺ெ஦஺ த஻ட்டத்த஻ன் 

ழ஥஺க்கம் என்஦? 

a) க஻ப஺நங்கம஭ ந஺஥கபங்கழ஭஺டு இமணத்தது 

b) ந஺யட்டங்கம஭ ந஺஥கபங்கழ஭஺டு இமணத்தது 

c) ஒவ்கய஺பே க஻ப஺நத்மதப௅ம் ப௃க்க஻ன ஥கபங்கழ஭஺டு  

    இமணத்தது 
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d) ஒவ்கய஺பே க஻ப஺நங்கம஭ப௅ம் ஒன்ழ஫஺டு ஒன்று  

    இமணத்தது 

 

 

19. The railway system started in India in 

இந்த஻ன஺யில் இபனில் ழ஧஺க்குயபத்து த஻ட்டம் 

கக஺ண்டுயபப்஧ட்டது 

a) 1852 b) 1853  c) 1855  d) 1720 

 

20. The least populous union territory of India as per 2011 

census is 

a) Lakshadweep b) Andaman and Nicobar Islands 

c) Daman and Diu d) Dadra and Nagar Haveli 

2011 கணக்ககடுப்஧ின்஧டி கும஫ந்த நக்கட்கத஺மகமன 

கக஺ண்ட இந்த஻ன பெ஦ினன் ஧ிபழதசம் 

a) இ஬ட்சத்தவீு    

b) அந்தந஺ன் நற்றும் ஥஻க்ழக஺஧஺ர் தவீுகள் 

c) ட஺நன் நற்றும் மடபெ   

d) த஺த்ப஺ நற்றும் ஥஺கர் ஹழய஬஻ 

 

21. As per 2011 census, India's lowest sex ratio prevails in 

which state? 

a) Bihar   b) Kerala  

c) Haryana   d) Arunachal Pradesh 

2011-ன் நக்கள் கத஺மக கணக்க஼ட்டின் ஧டி, இந்த஻ன஺யின் 

எந்த ந஺஥஻஬த்த஻ல் ந஻கக் கும஫ந்த ஧஺஬஻஦ யிக஻தம் 

஥஻஬வுக஻஫து? 

a) ஧ீஹ஺ர்   b) ழகப஭஺ 

c) ஹரின஺஦஺  d) அபேண஺ச஬ ஧ிபழதசம் 

 

22. Name the state which has the high sex ratio? 

a) Kerala   b) Tamilnadu 

c) Madhyapradesh  d) Maharashtra 

 

 

இந்த஻ன஺யில் ஆண் க஧ண் ஧஺஬஻஦யிகுத஻ அத஻கந஺க 

உள்஭ ந஺஥஻஬ம் எது? 

a) ழகப஭஺   b) தந஻ழ்஥஺டு 

c) நத்த஻னப் ஧ிபழதசம்  d) நஹ஺ப஺ஷ்டிப஺ 

 

23. India's density of population as per 2011 census is 

a) 328 per Sq.Km.  b) 382 per Sq.Km. 

c) 380 per Sq.Km.  d) 362per Sq.Km. 

இந்த஻ன஺யின் நக்கள் கத஺மக கச஫஻ய஺஦து 2011 நக்கள் 

கத஺மக கணக்க஼ட்டின் ஧டி 

a) 328 ஥஧ர்கள் ஒபே ச.க஻.நீ. b) 382 ஥஧ர்கள் ஒபே ச.க஻.நீ. 

c) 380 ஥஧ர்கள் ஒபே ச.க஻.நீ. d) 362 ஥஧ர்கள் ஒபே ச.க஻.நீ. 

 

 

24. Population density means 

a) No. of persons living per sq.km. 

b) No. of persons living per km. 

c) No. of persons living below poverty line 

d) No. of persons in a village 

நக்கள் அடர்த்த஻ என்஧து 

a) ஒபே சதுப க஻.நீ க்கு எத்தம஦ ஥஧ர்கள் ய஺ழ்க஻஫஺ர்கள் 

b) ஒபே க஻.நீக்கு எத்தம஦ ஥஧ர்கள் ய஺ழ்க஻஫஺ர்கள் 

c) யறுமநக் ழக஺ட்டிற்குக் க஼ழ் ய஺ழும் ஥஧ர்கள்  

    எண்ணிக்மக 

d) க஻ப஺நத்த஻ல் ய஺ழும் ஥஧ர்க஭ின் எண்ணிக்மக 

 

25. When did Unique Identification Authority of India 

(UIDAI) established? 
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இந்த஻ன஺யின் ச஼ப஺஦ அமடன஺஭ம் க஺ணும் 

ஆமணனம் எப்ழ஧஺து கத஺டங்கப்஧ட்டது? 

a) 2001 b) 2005  c) 2009  d) 2008 

 

26. Density of population is measured as 

a) Land area / Total population 

b) Land area / Employment 

c) Total Population / Land area of the region 

d) Total Population / Employment 

நக்கள் கத஺மக அடர்த்த஻ என்஧து 

a) ஥஻஬த்த஻ன் அ஭வு / நக்கள் கத஺மக 

b) ஥஻஬த்த஻ன் அ஭வு / ழயம஬ ய஺ய்ப்பு 

c) நக்கள் கத஺மக / கு஫஻ப்஧ிட்ட ஥஻஬ அ஭வு 

d) நக்கள் கத஺மக / ழயம஬ ய஺ய்ப்பு 

 

 

27. According to the 2011 census the lowest density of 

population is recorded in the state 

a) Mizoram    b) Sikkim 

c) Arunachal pradesh  d) Nagaland 

2011 ஆம் ஆண்டு நக்கள் கத஺மக கணக்ககடுப்஧ின்஧டி, 

கும஫ய஺஦ நக்கள் அடர்த்த஻ ஧த஻வு கசய்னப்஧ட்ட 

ந஺஥஻஬ம் 

a) ந஻ழெ஺பம்    b) ச஻க்க஻ம் 

c) அபேண஺ச்ச஬ ஧ிபழதசம்  d) ஥஺க஺஬஺ந்து 

 

28. As per National Sample Survey (NSS) 27th round in 

India _________ of the rural population has no skills at 

all. 

ழதச஻ன ந஺த஻ரி நத஻ப்஧ீட்டின் ஧டி (NSS) த஦து 27யது 

சுற்஫஻ல் இந்த஻ன஺யில் _________ நக்கள் 

த஻஫மநனற்஫யர்க஭஺க இபேக்க஻஫஺ர்கள் என்க஻஫து 

a) 91% b) 70%  c) 84%  d) 94% 

 

 

 

 

29. What is Density of Population ? 

(A) The number of people living in per (one) sq. km. 

(B) The number of people living in 10 sq. km. 

(C) The number of people living in 100 sq. km. 

(D) The number of people living in 200 sq.kin. 

நக்கட்கத஺மக கச஫஻வு என்஫஺ல் என்஦ ? 

(A) ஒபே சதுப க஻ழ஬஺ நீட்டரில் யச஻க்கும் நக்க஭ின்  

      எண்ணிக்மக 

(B) 10 சதுப க஻ழ஬஺ நீட்டரில் யச஻க்கும் நக்க஭ின்  

      எண்ணிக்மக 

(C) 100 சதுப க஻ழ஬஺ நீட்டரில் யச஻க்கும் நக்க஭ின்  

       எண்ணிக்மக 

(D) 200 சதுப க஻ழ஬஺ நீட்டரில் யச஻க்கும் நக்க஭ின்  

       எண்ணிக்மக 

 

30. Find the next number of the sequence 0, 5/2, 8, 17/2, 

24, 37/2, 48 ? 

஧ின்யபேம் எண்கத஺டரின் அடுத்த எண் எது 0, 5/2, 8, 17/2, 

24, 37/2, 48 ? 

a) 65/2 b) 67/2  c) 57/2  d) 55/2 

 

31. Find the wrong number in the series 69, 55, 26, 13, 5 

69, 55, 26, 13, 5 என்஫ யரிமசனின் தய஫஺஦ 

எண்மணக் க஺ண்க 

a) 5  b) 13  c) 26  d) 55 
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32. If CLASSIC can be written as XOZHHRX then 

CHILD can be written as 

CLASSIC என்஧மத XOZHHRX எ஦ எழுத஻஦஺ல் CHILD 

என்஧மத எவ்ய஺று எழுத஬஺ம்? 

a) XSROW   b) XSROV  

c) XSROU   d) SXROW 

33. Find the missing number in the following sequences. 

22, 32, 52, 72, ....132 

஧ின்யபேம் கத஺டர் யரிமசனில் யிடு஧ட்ட எண்மணக் 

க஺ண்க. 22, 32, 52, 72, ....132 

a) 9
2
 b) 10

2
  c) 11

2
  d) 8

4
 

 

34. Which one of the following has a terminating decimal 

expansion? 

஧ின்யபேய஦யற்றுள் எது ப௃டிவுறு தசநத் தரீ்வு? 

a) 5/64 b) 8/9  c) 14/15  d) 1/12 

 

35. In the following question, choose one number which is 

similar to the numbers in the given set. 

4513, 1021, 8725, _______ 

க஼ழ்க஺ணும் கத஺டபேக்கு க஧஺பேத்தந஺஦ எண்மண 

ழதர்வு கசய்க 

4513, 1021, 8725, _______ 

a) 9868 b) 5324  c) 6834  d) 2937 

 

36. In the series 7, 10,13, .... 20th term is 

7, 10, 13, .... என்஫ எண்க஭ின் யரிமசனில் 20-யது 

எண்ண஺஦து 

a) 57 b) 60  c) 64  d) 67 

 

37. Find the value of k if 1ᵌ + 2ᵌ + ...... kᵌ = 44100 

k-ன் நத஻ப்பு க஺ண்க.1ᵌ + 2ᵌ + ...... kᵌ = 44100 

(A) 20 (B) 21  (C) 22  (D) 23 

 

 

 

 

38. Find the missing number: 3, 12, 27, 48, 75, 108, 

யிடு஧ட்ட எண்மணக் க஺ண்க 3, 12, 27, 48, 75, 108, ________ 

(A) 147 (B) 162  (C) 183  (D) 192 

 

 

39. If HUMBLE' is given by the code EHLUBM. What 

does the code EDUCATION mean? 

 ‘HUMBLE' என்஧மத EHLUBM எனும் கு஫஻னீட்ட஺ல் 

தபப்஧டின் EDUCATION எனும் கு஫஻னீடு எதம஦க் 

கு஫஻க்கும்? 

(A) NEDOIUTCAT  (B) NEOIDUTCA 

(C) NEDUOITCAI  (D) NEODIUTCAL  

 

 

40. In the given number pattern find the next the 21/33, 

321/444, 4321/5555, ________ 

21/33, 321/444, 4321/5555, ________ என்஫ 

அமநப்஧ில் அடுத்த எண்மணக் க஺ண்க. 

(A) 7531/6666  (B) 1234/5555 

(C) 4321/2222  (D) 54321/66666 
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ANSWER KEY 

1. D 

2. C 

3. A 

4. A 

5. B 

6. B 

7. A 

8. B 

9. A 

10. A 

11. B 

12. C 

13. A 

14. A 

15. B 

16. C 

17. B 

18. C 

19. B 

20. A 

21. C 

22. A 

23. B 

24. A 

25. C 

26. C 

27. C 

28. A 

29. A 

30. A 

31. A 

32. A 

33. C 

34. A 

35. A 

36. C 

37. A 

38. A 

39. D 

40. D 

 


